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7 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — — |3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 7.78 99.86 | =St | 000 ~ 7.78| 215 10.85 zh st 1.00 | 5.00 ~ 1054 99.86 | =hLH | 5.00 ~ 1054|216 10.85
2 100kN/mM%E{BZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 6.65 83.89 | =St | 000 ~ 0.00| 1.73 877 Zh st 1.00 | 5.00 ~ 800 83.89 | =ns | .00 ~ 800 1.73 877
3 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 000 ~ 616 77.34 | Fns | 0oo ~ o000 1.62 8.20 zhLst 1.00 | 5.00 ~ 743 77.34 | TRLS | 6,00 ~ 7.43| 1.62 8.20
4 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 5.66 70.70 | NS | 000 ~ o000| 1.67 7.91 Zh st 1.00 | 5.00 ~ 6.88 70.70 | TRLS | 6,00 ~ 688 1.57 7.91
5 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 5.55 69.26 | FnLSY | 0.00 ~ 0.00| 1.63 822 zhLst 1.00 | 6.00 ~ 6.31 69.26 | Thst | 6.00 ~ 631 1.63 822
P 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 656 80.01 | #nst | 000 ~ 0.00| 1.74 8.80 st 1.00 | .00 ~ 746 80.01 | =hs | 600 ~ 7.46| 1.74 8.80
7 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM#%#8% % — - ~ — — |3mZiBZ D - ~ — — —
ThLst 1.00 1 0.00 ~ 6.31 79.30 | EhS 000 ~ 000 | 1.73 8.75 Fhst 1.00 | 6.00 ~ 7.37 79.30 | #nLS | .00 ~ 737|173 875
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
Ths ~ ZhLst ~ ZhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ ZhLst ~ ZhLst ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Thst ~ st ~ ZhnLst ~ ZzhLst ~




